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GRADE 4

MATHEMATICS

END-TERM-2-2023

FORMATIVE GRADING
Exceeds Expectationsi{ Meets Expecations | Approaching Expectations { Below Expectations
4 3 2 ' 1
20-30 11-19 6-10 0-5

What is the place value of digit 6 in 9624
A Ones

B.tens

C. hundreds

D. thousands

. What is the total value of digit 4 in 43917

A. Tens of thousands -
B. 40,000 '
. thousands
D. Hudreds
A tank contains 42986 litres of water. How
many litres of water are shown by digit 9.
A. 90
B. 500
C. 986
D.9

4. Munene was paid sh 576 for doing some

work. Write this amount in words.
A. Five hundred and seventy six.
B. Five thousand and seventy six.
C. Fifty seven apci seventy six,

D. Fifty seven and six.

Arrange the folléwing numbers from the
smallest to the largest.

259, 592, 292, 529

A. 592, 529, 292, 259

B. 529, 592, 259, 292

C. 259, 292, 529, 592

D. 292, 259, 592, 529

. The foliowing farmers had the following

kilegrams of wheat
Muthee ____ 90Ckg
Musa ___ 136kg



10.

Maina ____ 460kg -
Mule __ 98%%g
Meja ____ 896kg

" Who had MWW of kilograms

A. Musa

B. Muthee

C. Maina

D. Mule

Which of the following numbers is a multipie
of 6

A 23

B. 27

C. 36

D. 17

Which of the following numbers is an odd
numbers?

A, 222

B. 12

C. 16

D.13

Write the next two numbers in the pattern

below. ,

96, 92, 88, 84, ____, ____

A 88, 92 B. 82, 80
C.80,76 D. 86, 88

How is 9 written in roman numeral?
A. ix

B. xi

C. viv

D. xii
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13.

14,

. Work out:
7237
+ 1862

A. 81099

B. 9099

€. 5375

D. 8099 _

Mutula had 2300 cows and 80 goats. How
many animals did he have aitogether?

A. 2380

B. ZZZQ

C. 23800

D. 230080

What is the next number in the pattern.
2000, 2100, 2200, 2300, 2400, ____
A. 2600
B. 2500
C. 27OQ
D. 2800
Work out
8698
-572

A. 9270
B. 8026
C. 8126
D. 8136



15,

16.

17.

ia,

There are 1865 books in a schoo! store, The
pupils weregiven 765 books. How many books
remained?

A. 2630

B. 1200

C. 1480

D. 1100 7

What is the next number in the pattern

20, 80, 70, 60,
4. 50 |
B. 30

C. 40

D. 20

There are 24 botties of water inabox. How |

many botties of water are there in 65 such
boxes?

A. 89 botties

B. 1560 bottles

C. 41 bottles

D. 1460 bottles

Atieno bought 72 oranges. She arranged the
oranges in group of 6. How many groups did
she make?

A. 78 groups

B. 66 groups

C. 12 groups

D. 432 groups

19. Work out

99 + 8 =

A. 11 rem 375
B.12rem8
C. 12 rem 375
D. ;2 rem 3

20, Which one is improper fraction

A/,
B.%/,
c. ¢/,
D.%,

| 21. A cow produced 1475 litres of milk in a

certain month. How many litres of milk are

shown by digit 7
A. 700

B. 70

C.7

b. 7000 ‘

| 22. Which pair is not a factor of 64?

A.8 and 8
B.4and 16
C.2and 32
D.12 and 4

23. Which one is a pair of even numbers?

A. 12 and16
B.8and 9

C.7 and 14
D.12 and 11



24,

25.

26

27.

Rukira primary school planted 2465 tree
seedlings in one season. In the same season,
Nguthuru pri mary school pian;red 3140 tree
seedlings . How many seedlings were

planted by the two schools altogether?

A. 675 B. 5605
C. 5615 D. 4605
Write 15)100 as a decimal
A. 0,015 "B. 150
€. 015 D.1.05
- What is the place value of digit 6 in 0.1¢
-A. Ones
B. tenths

C. hundredths

D. thousandths

What is the approximate height of your
mathematics teacher?

A.Z2cm

B.2m

C.2mm

D.10em

28.

2s.

Work out
39 - 3=
A. 16
B. 13
c. 12
D.10

Arrange the following numbers from the

| largest to the smailest

30.

624, 246, 462, 642, 264, 426

A. 246, 264, 426, 462, 624, 642
3.426;264,246,462,624,642

C. 624, 642, 462, 426, 264, 2456

D. 642, 624, 462, 426, 264, 246

The capacity of drum is 82litres. Write the
capacity of drum to the nearest 10 litres?
A. 85

B.95

C. 80 1

D. 90



